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Pre Calculus | :  Namé™"
Review 4B (4.4-4.8) o - Block:
' Non-Calculator

§zow all work for credit!!

Graph each function without a calculator. State the (a) amplitude, (b) period, (c) phase shift and (d) vertical shift. Label
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7. Write the equation(s) of the cosine function with amplitude 5, period 37, phase shift —-g , and vertical shift of 1.
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8. Write the equation of the function shown below using the given parent function...
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Find the exact value. Express your angle answers in radian measure.
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15. Find an algebraic expression equivalent to sin(arccos3x).
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Calculator Allowed

16. A plane is 8000 feet above the ground when it begins its final approach to a runway. If the ground distance
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17. Two boats are observed from a tower 75 meters above a lake. The angles of depression are 12° and 7°.
How far apart are the boats?
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" 18. From the Penthouse Suite in 100 ft tall hotel;“éwdman'observes a car speeding recklessly away from the
entrance to the hotel. | If the angle of depression from the woman to the car changes from 46° to 22° while she is
observing, find each of the following...

”a) How far did the car travel away while the woman was watching?
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b) How far wad the car from the entrance t0 the Pxotel? (6o 100

z ]50.937807%

e

Q\{’ bea;ﬂm\\_y... X = 47"’"{
at end . ..

(50240 fect
2 96.567 feet RS biben
Lo
X 5 24701 fect

19. A certain tree grows vertically on a hill which mﬁkes an angle of 8° with the horizontal. When the angle of
elevation of the sun is 27°, the end of the tree’s shadow is 76 meters directly downhill from the base of the tree.
| Find the height of the tree. vAg
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20. The Ferris wheel shown makes one complete turn
every 30 seconds. A rider’s height, , above the ground
can be modeled by a trigonometric equation

h= asin(wt)+k , where & and k are given in feet and

is in seconds. Write the equation.
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